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B & B 1B 0K | 28 K | 6B (A) | 7B (K | 98 (K) | 10B(&)
x 18 & | 170 160 150 150 -
= x| 1= |18 180 150 0| 0 .
D | 1kg |10 60 o [190 g0 . [120 g0 |10 50
& 5 2 | ke — 300 _ — 200 _
B x DB — — — _
TRy DB — — — —
hmE | IR — — — —
ESNAE | 13 | 190 100 g | 190 ol 0 60 4|0 0 g

X 13R — — — —
BoE 5kg |13%0 1000 5o 1290 1000 ¢4 — 1390 1000 40
L 2 2 | OA |1200 <0 |00 BN 200 | &% s
Y——LRR| AA — — _ 800 500
g)v)—2 | AA — — — —
[Z 5 100g| 1R — — — —
Jayal)— | OA — — — —
FRNASAR| 158|190 150 4o | 190 150 180 150 (180 150 44
HYIURY| 1kg — 2500 5000 | 500| 18%° 1500 ggo | T80 150 490
R 2 H kg {1209 1000 g — — —
£Ova ke {1209 1000 goq [12%9 1000 g4 1290 1000 gog 290 1000 gq
E #= 1kg _ _ _ 100 50
#H&531=1F| 100g | 20 150|290 150 200 120 L | 7 20
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o & |Hf| 18 0K 28 (K) 68 (A) | 78 (&) | 98 (K) | 108 (&)
N 110 50| 110 50 | 110 50 | 110 50

200g | 200 150/ 2% 50/ 2% 150/ 2% 150
% & C | 100g| % 35| 35| 35| 35
2 @ |100g]| % 35 | °° 35 | *° 35 | >° 35
OBty | 200g — — — —
H b U | 13 |10 100 55|20 150 (40[ %0 100 5o 190 100 o
D A EF | 1% 390 200 150[*00 250 ;0[290 130 oo |1%0 100 o
5 & 1kg | 790 500 950|8%0 500 ,e0 (1090 400 H5q| 990 600 45,
O G 5 | 100g _ 180 10| 10 0 _
oD% | 100g | 700 400 500|890 400 150[°%0 350 100 * 300 g
== & |100g|300 |26 20| 220 — [%0 —
ZL&HAD | 100g — 1000 600 10| 7% 950 —
EhsU 13 — — — —
Shled |10g |30 | — %0 e
N B 1kg — — — —
& I kg [420 350 90] %20 350 50370 300 {50(%70 300 .9
b <k 1kg |400 300 950|490 300 ,40[#%0 300 50| *0 300 L
S=hIb [ 200g 190 120 450|120 120 (0| 90 120 40| "% 120 4o
B 270g | 45 150 °% 200] *%° 80| *° 200




